n({0, 1, 2, 3)) —n({1, 2, 3}) & Fo2 Z2 A9

n({0, 1, 2, 3)-n({1, 2, 3)) =4-3=1
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4. YA FT RS AS AER? (B a, b= 00] ofd A=)

4lallb|

O /2(a% + b?) < |a| + |b| < a1
4lal|b|
@ /2( _|H_|b|_la|+|b|
4lal|b|
® lal+1b| < a? +b?) <
2 ) la] + ||

dlallbl
jal + b1 =

4lallb|
<lal + 1b| £ /2(a? + b?
lal + 1| ( )

2(a® + b?) < la| + |b|

B

la| > 0, |p| > 0|22

|al + bl 2lallb|
> Vallbl >
| | + 16|
4|a||b|
<lal+1bl---Q
"~ lal + 1b]

rsh

H (/2(a* +5?))? = (lal + |b])*
2(a® 4 b%) — (a® + 2lallb| + b?)
@ = 2|a||b|+b2

lal - [b])* >

5 (V/2(a2 + b2))2 > (la| + b])?
“lal 41l < /2(a? +5?) - ©
Q, ©°ll &Jsted

Alal|b|
lal + |b]

<lal+ bl < /2(a® + b?)




